

VENDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

SHIP

T

DEP13514

PAGE 1

ADDRESS CORRESPONDENCE TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

*519142040 304-204-2500 BASE ENVIRONMENTAL GROUP LLC PO BOX 458 4200 FIRST AVE SUITE 104 NITRO WV 25143

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
ENVIRONMENTAL REMEDIATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

DATE PRIN	ΓED	TER	MS OF SAL	E		SHIP VI	A		F.O.B		FREIGHT TERMS
07/18/	2006										
BID OPENING DATE:	1755 175 155 155 155	08/17/	2006			Source or a second	BID	OPE	NING TIME	01	:30PM
LINE	QUAI	VTITY	UOP	CAT NO.	17	TEM NUM	BER		UNIT PRICE		AMOUNT
0001		1	EΑ		962-7	3					
	RECLAM		REST	ORATI	ON OF	LANI	HTO & C	ER	PROPERTIES	•	
					THERN						
	AGENCY PROTEC TO PRO UNDERG DIFFER THE FO	, THE TION, VIDE A ROUND ENT LO LLOWIN	WEST IS RE LL LA STORA CATIO G SPE	VIRGI QUEST BOR A GE TA NS IN CIFIC	NIA DI ING B ND MA' NKS (I SOUTI ATION:	EPARTIDS FITERIAL (INC.) HERN S, BI	TMENT OFROM QUALS FOR ALS FOR AND AS WEST V	F E IALI TH SSES IRG URE	BEHALF OF NVIRONMENT FIED VENDO E REMOVAL SMENTS AT INIA, PER MENTS, TER DULE.	AL RS OF	
	work,	ADDITI	ONAL	BID O	R CON	TRAC		REM	R SCOPE OF ENTS, AREA		
	EXHIBI	T 3:									
	YEAR ONECESSORIGINOT EXTIME" REASONWRITTE	WARD A R UNTI ARY TO AL CON CEED T THE VE UPON N NOTI	ND EX L SUC OBTA TRACT WELVE NDOR GIVIN CE.	TENDS H "RE IN A . TH (12) MAY T G THE ROVIS	FOR ASONAL NEW CO E "REA MONTI ERMINA DIREO	A PERBLE TONTRASONA HS. ATE TOTOR	RIOD OF FIME" T ACT OR ABLE TI DURING FHIS CO OF PUR	HER REN ME" TH NTR CHA	EAFTER AS EW THE PERIOD SH IS "REASON ACT FOR AN SING 30 DA ELSEWHERE	IS ALL ABL Y YS	
	Till MIT	S CUNI	KACI	DUCUM	ENI,	INE	I EK 195)	LUN	DITIONS AN	ננו	
				SEE RE	VERSE SIDE		RMS AND CO				
SIGNATURE UNIT	CSI	~赵					ELEPHONE A	< 2º	4 2500	DATE {	8/17/06
TITLE ME	9	FE	IN ZA	-203	872	-7		"		ANGES	TO BE NOTED ABOVE



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP13514

ADDRESS CORRESPONDENCE TO ATTENTION OF:

CHUCK BOWMAN 304-558-2157

*519142040 304-204-2500 BASE ENVIRONMENTAL GROUP LLC PO BOX 458 4200 FIRST AVE SUITE 104 NITRO WV 25143

ENVIRONMENTAL PROTECTION DEPARTMENT OF **ENVIRONMENTAL REMEDIATION** 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

DATE PRIN	TED	ERMS OF SALE	SHIP VIA	F.O.B.	FREIGHTTERMS
07/18/					
OPENING DATE	08/17	//2006	BID	OPENING TIME O	1:30PM
LINE	QUANTITY	UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
	PRICING SET	HEREIN ARE	FIRM FOR THE LI	FE OF THE	
	WRITTEN CON SUBMITTED T DAYS PRIOR BE IN ACCOR	ISENT OF THE TO THE DIRECTORY TO THE EXPIRED ANCE WITH INTRACT AND	MAY BE RENEWED SPENDING UNIT A TOR OF PURCHASIN RATION DATE. SU THE TERMS AND CO SHALL BE LIMITED	ND VENDOR, G THIRTY (30) CH RENEWAL SHALL NDITIONS OF THE	
	RIGHT TO CANOTICE TO TESUPPLIED AN	NCEL THIS C HE VENDOR I LE OF AN INF	CTOR OF PURCHASI ONTRACT IMMEDIAT F THE COMMODITIE ERIOR QUALITY OR OF THE BID AND C	ELY UPON WRITTEN S AND/OR SERVICE DO NOT CONFORM	1
	AUTHORIZE A MARKET, WIT ESTIMATE, I IMMEDIATE I CAUSES (INC	SPENDING UT THE FINE TEMS SPECIFOLIVERY IN SEUDING BUT	E DIRECTOR OF PUNIT TO PURCHASE LING OF A REQUISIED ON THIS CONTEMERGENCIES DUENOT LIMITED TO DISTRIBUTED TO DI	ON THE OPEN ITION OR COST RACT FOR TO UNFORESEEN ELAYS IN TRANS-	
	APPROXIMATI THE STATE S THAT THE CO ORDERED FOR	ONS ONLY, BEPENDING UNINTRACT SHAL	LISTED IN THE R ASED ON ESTIMATE T. IT IS UNDERS L COVER THE QUAN URING THE TERM O HAN THE QUANTITI	S SUPPLIED BY TOOD AND AGREED TITIES ACTUALLY F THE CONTRACT,	
	BANKRUPTCY: FOR BANKRUP	TCY PROTECT	ENT THE VENDOR/CION, THIS CONTRA	CT IS AUTOMATI-	
NATURE / M/ LA	C 47 =1	OEE BE		204 2500 DATE	61.26.1
E PAC	-Olmey_	IFFIN CO A -	304		8/17/06
MC	·P	FEN 34-203	8727	ADDRESS CHANGE	S TO BE NOTED ABOVE



VEZDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP13514

PAGE
3

ADDRESS CORRESPONDENCE TO ATTENTION OF CHUCK BOWMAN
304-558-2157

ADDRESS CHANGES TO BE NOTED ABOVE

*519142040 304-204-2500 BASE ENVIRONMENTAL GROUP LLC PO BOX 458 4200 FIRST AVE SUITE 104 NITRO WV 25143

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
ENVIRONMENTAL REMEDIATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

DATE PRINT	red	TER	MS OF SAL	E		SHIP VIA	F.(Э.B.	FREIGHTTERMS
07/18/									
BID OPENING DATE:		08/17/	2006			BID	OPENING	TIME 0	1:30PM
LINE	QUAI	YTITY	UOP	CAT. NO:	ITE	MNUMBER	רומט	T PRICE	AMOUNT
	CALLY ORDER.		סע מא	ID, A	ND IS	TERMINATE	D WITHOUT	FURTHER	Per contract of the contract o
	SHALL CONDIT DOCUME AGREEM	SUPERS IONS W NTS SU ENTS O	EDE A HICH CH AS R MAI	NY AN MAY A PRIC NTENA	D ALL PPEAR E LIST	TAINED IN SUBSEQUEN ON ANY AT S, ORDER REEMENTS, -ROM.	T TERMS A TACHED PR FORMS, SA	AND PINTED ALES	
	REV. O	4/11/2	001	V			T T T T T T T T T T T T T T T T T T T		
				NOT	ICE				
	AN ORI	GINAL,	SIGN	ED BI	D MUST	BE SUBMI	TTED TO:		
	P B 2	URCHAS UILDIN 019 WA	ING D G 15 SHING	IVISI TON S	INISTR ON TREET, 5305-0	EAST			
		ID MU VELOPE	*			INFORMATI Y NOT BE	1		
	SEALED	BID]					
	BUYER:				CB-23				
	RFQ. N	0.:		annoch (interpretation of the control of the contro	DEP135	14			
	BID OP	ENING	DATE:	***************************************	08/17/	2006	Programme and the second		
				SEE REV	/ERSE SIDE F	OR TERMS AND C			
SIGNATURE ALL	"Sur	B A				TELEPHONE	4 204 20	500 DATE	8/01/16

34-2038727

PURCHASING CONTINUATION SHEET

Buyer: Page 13	RegiPO
Chuck Bowman	DEP
Spending Unit:	
WVDEP/DLR/OER	

item No.	Quantity	Description	Unit Price	Amount
1	5,000	Removal and proper disposal of petroleum contaminated water, rinsate and/or product. (per gallon)	0.47	2,338.60
2	12	Transportation of petroleum contaminated water, rinsate and/or product to disposal facility (per site)	450.00	5,400.00
3	25	Purge vapors from UST to <10% LEL. (per tank)	150.00	3,750.00
4	25	Excavate and extract UST / pipping from the ground. (per 1000 gallon tank volume)	839.67	20,991.74
5	25	Cut openings in UST and clean sludges from them. (per tank)	337.72	8,443.02
6	25	Dispose / scrap cleaned UST. (per tank)	250.00	6,250.00
7	25	Disposal of tank-cleaning sludges. (per drum)	150,00	3,750.00
8	2000	Segregate obviously contaminated vs. non- contaminated soils and stockpile contaminated soils/debris on-site on 6 mil black plastic and cover with 6 mil black plastic. (per ton)	6.49	12,977.95
g	2000	Load, transport and properly dispose of petroleum contaminated soil at a state approved landfill and supply manifests. Unit price includes landfill tipping fees and etc. (per ton)		117,399.63
10	100	Proper disposal of nonhazardous materials such as broken concrete slabs, piping & etc. (per ton)	52.00	5,200.00
11	2000	Backfill excavations with pea gravel or crusher run. (per ton)	23,00	A6,000.00
12	12	Mobilization and demobilization. (per site)	1,200.00	14,400.00
13	500	Asphall disturbed excavation area. (per sq. ft)		4,250.00
14	500	Concrete disturbed excavation area (per cu.yd.)	150.00	
15	5	Fill UST with concrete slurry (per 1000 gallon tank volume)	343.00	
16	5	Fill UST with inert foam material (per 1000 gallons tank volume)	250 .00	1,250.00
17	12	Direct Push Equipment (per day)		15,180.00

13	500	Direct Push Temporary Groundwater Sampler (per linear foot)	2.85 1,425.00
19	500	Direct Push Prepack well screen 1.4 inches OD (per linear foot)	14.30 7 150.07
20	500	Direct Push Prepack well screen 2.5 inches OD (per linear foot)	16.00 8,000.00
21	12	Low Flow Sampling Equipment (per day)	1,500.00 18,000.00
22	500	Well Abandonment (per linear foot)	30,00 15,000.00
23	500	Borehole (and Corehole) abandonment (per linear foot)	30.00 15,000.00
24	10	IDW Disposal (per drum)	150.00 1,500.00
25	25	Dot 17-C Drums (each)	45.00 / 125.00
26	100	Laborer (per hour)	37.72 3,772.08
27	12	Complete Reports ans Submittal (each)	250.00 3,000.00

TOTAL = \$ 418, 268.02

Inquires concerning this RFQ shall be directed to:

Mr. Bryan Arthur Contract Specialist WV DEP/ Office of Environmental Remediation PO Box 38 French Creek, WV 26218

(304) 924-6211 - Phone (304) 924-6781 - Fax



Base Environmental Group, LLC. P.O. Box 458 4200 First Avenue, Suite 104 Nitro, West Virginia 25143 (304) 204-2500 (304) 204-2520 Fax

August 17, 2006

Mr. Chuck Bowman
West Virginia Department of Administration
Purchasing Division
Building 15
2019 Washington Street East
Charleston, West Virginia 25305-0130

Re:

Request for Quotation DEP13514

Underground Storage Tank Removal and Assessments Contract

West Virginia Department of Environmental Protection

Dear Mr. Bowman:

Base Environmental Group, LLC is pleased to submit this quotation to provide underground storage tank removals and assessments for the counties outlined in your Request For Quotation Number DEP13514. Please feel to contact me should you have any questions or need additional information.

We appreciate the opportunity to provide this quotation and look forward to working with you.

Sincerely,

Base Environmental Group, LLC

Walter C. Showen, III

Member/Manager

RFQ No.	DEP13515
---------	----------

AFFIDAVIT

1116

West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions.

"Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION:

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

LICENSING:

The vendor must be licensed in accordance with any and all state requirements to do business with the state of West Virginia.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit **www.state.wv.us/admin/purchase/privacy** for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name: BAS	SE ENVIRONMENTAL	GROW, LLC		
,	Walte Stand	•	8/17	106
Additionized digitation _			7 1	/